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SH: MEAST
HE: QAN X E DB (SHSLA/UY - ME)
Selr NSISE MYNAZH F7 GEER-ED
. 4
SN SAEA) - MEAY - BES 0l &k o e SmEET
01 At 22l tl 50,000 500,000 A 450,000
OAUAE HHIAE 2F & AMEE 50,000
202 44l 12,000 4,300 7,700
01 =LHA Bl 12,000 4,300 7,700
OZENALHAALZ HAL X 12,000
207 O] 50,000 0 50,000
01 22 EAHI 50,000 0 50,000
OQUAI YAHA AZFES A7SA 50,000
307 glz2tol & 13,840,000 3,400,000 10,440,000
= 5,900,000
= 7,940,000
05 It &t = 13,840,000 3,400,000 10,440,000
OxX=?Is 2 13,840,000
= 5,900,000
& 7,940,000
403 XSS AH201H 480,000 0 480,000
01 XM= x 480,000 0 480,000
HAZZE B2AIHAY 480,000
ZENMAMSEAAZ SHHA X2 100,000 0 100,000
307 glz2tol & 100,000 0 100,000
04 QI2LHALAISE E X 100,000 0 100,000
ORM73l OLAIOtREIAEIHY S=ASl Izl 100,000
AR dI9EE B7= o2dl X (21) 7,380 0 7,380
= 4,782
= 2,598
201 24l 2,880 0 2,880
= 1,866
= 1,014
01 At 22l 2,880 0 2,880
O™ AHZEHl & Xt 2,880
= 1,866
& 1,014
202 044l 4,500 0 4,500
= 2,916
= 1,584
01 SO I 4,500 0 4,500
(OF=FSg-—E=Y NI 4,500
= 2,916
= 1,584
A=Jisst fdB3EIe 15 183,508 182,488 1,020
= 141,160
< 42,348
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SN MEASD
HE: AN X E D (SHLA/AY - AE)
o9 MEXE ASH (et9l: @2
% 5 SIE|
M- - (3AH) - HRAY - BESF Ol &4 a&% Hw=s2
308 XX SHSOIN 57,524 68,344 ~10,820
= 39,672
= 17,852
PR EPE = 57,524 68,344 ~10,820
Ol QA MADE ol 57,524
= 39,672
< 17,852
AMZ REIIH(2D) 265,495 247,497 17,998
= 183,100
= 82,395
403 XHXI EHHI S X2 0| ® 265,495 247,497 17,998
= 183,100
< 82,395
01 XIS A2 2 = 265,495 247,497 17,998
oYuse REIIL X4 265,495
= 183,100
= 82,395
MASERSHE(ZD) 1,775,760 0 1,775,760
= 1,585,500
< 190,260
403 XtXI S S K20l H 1,775,760 0 1,775,760
= 1,585,500
= 190,260
01 HXICHAI K =8 = 1,775,760 0 1,775,760
OURNBBRSHEHES 1,775,760
= 1,585,500
= 190,260
FeAALS TH 22 (2D) 99,911 130,135 ~30,224
= 88,621
< 11,290
403 XHXI SHHI S X2 0| ® 99,911 130,135 ~30,224
= 88,621
< 11,290
01 R SHA X2 2 = 99,911 130,135 ~30,224
oY s Mi2el 99,911
= 88,621
< 11,290
MYRSMMET(2D) 1,963,545 1,472,535 491,010
= 1,419,052
= 544,493
403 XHXI EHHI S X2 01 ® 1,963,545 1,472,535 491,010
= 1,419,052
= 544,493
01 X SRR =L = 1,963,545 1,472,535 491,010
OMFTESMALT =4 1,963,545
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SH: MEAST
Y 2JAMO JXl D (SHHLA/UH - AE)
el MR AS3 EER-E
2 5 4 14
SN SAEA) - MEAY - BES 0l &k o e SmEET
= 1,419,052
= 544,493
AESEFIHR(21) 1,603,139 1,642,106 38,967
= 1,224,697
& 378,442
403 AXIHMSA=201 A 1,603,139 1,642,106 38,967
= 1,224,697
& 378,442
01 HXIEMIEE X 1,603,139 1,642,106 A 38,967
otE=EgdgdHil =4 1,603,139
= 1,224,697
= 378,442
UAES MADIBIEH(2D) 16,625 107,943 A91,318
= 11,465
= 5,160
403 X SHH S0l & 16,625 107,943 291,318
= 11,465
= 5,160
01 tXIESH 2L = 16,625 107,943 A91,318
OYLtE MAD|IEtE Y 16,625
= 11,465
& 5,160
SO FUXA(Z2) 661,066 1,294,386 A 633,320
= 608,876
= 52,190
403 RAtXISHMS K201 A 661,066 1,294,386 A 633,320
= 608,876
= 52,190
01 XX EH A2 = 661,066 1,294,386 A 633,320
OHMEH2t =As XA 661,066
= 608,876
< 52,190
WSO ASZAS XV(2D) 400 480 A80
2 400
308 XX M S 0| 400 480 £80
2 400
01 HXSHILEXS 400 480 A 80
OS2 ASALE X 400
= 400
AR ESESAMSE (2 1) 840,000 0 840,000
= 750,000
= 90,000
403 XSS AHE20l & 840,000 0 840,000
= 750,000
= 90,000
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M MEASH
HE: QAN X E DB (SHSLA/UY - ME)
el MR AS3 EER-E
2 5 4 14
SH-EH S (BAH) - HREAMY - BES O &k o e Hl RS2
= 80,000
= 12,000
403 N XSS K201 & 92,000 138,000 A 46,000
= 80,000
== 12,000
01 HXIEMAEEE 92,000 138,000 A 46,000
O=STHAHAIE S XA 92,000
= 80,000
= 12,000
SHALAHXES (=21) 1,120,000 1,120,000 0
= 1,000,000
= 120,000
403 AtXISHMS K201 A 1,120,000 1,120,000 0
= 1,000,000
= 120,000
01 AtXIEHM A28 1,120,000 1,120,000 0
O=MASHI L 1,120,000
= 1,000,000
& 120,000
SHAHA2Z (2D) 272,094 0 272,094
= 209,300
= 62,794
403 XSS 201 ™ 272,094 0 272,094
= 209,300
= 62,794
01 AXIESMA2E L 272,094 0 272,094
O=M==X & & 2l 272,094
= 209,300
= 62,794
AAIHEH B2(=1) 149,500 183,300 A 33,800
= 115,000
= 34,500
403 XAXISHMSA=201 A 149,500 183,300 A 33,800
= 115,000
= 34,500
01 XS EEE 149,500 183,300 A 33,800
OLAIAHEH B3 149,500
= 115,000
= 34,500
AEIHIOI Q01 A K& F 400,000 0 400,000
403 XAtXISHMS K201 A 400,000 0 400,000
01 AtXIEHM A28 400,000 0 400,000
OJIAZEHEZS 400,000
STHOISIS X (MSALY) 2,580,000 2,064,000 516,000
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SA M-ASD
M LAMNYO IR A DB (STHYLA/LY - AE)
Gol: AR ASE (es @
SH-EH-S(3) - HRAY - BES O &k o ﬁgﬁ H &2
403 XHXISHAI S K= 0] & 2,580,000 2,064,000 516,000
01 XEXISHAI X2 &2 & 2,580,000 2,064,000 516,000
OBF SIS T4 () 645,000
O8Y SMSSIHMER =4 () 645,000
OUM STHESIHMEE T4 (T) 645,000
01N SHSSIMEN =4 () 645,000
Ueed Z42g (M) 490,000 516,000 26,000
403 XHXI SHAI S K= 0] & 490,000 516,000 26,000
01 XIXISHA X2 = 490,000 516,000 226,000
ORFA L2283 (&a) 86.000
OZLEAN U228 (Ha) 129,000
OSHAl LS8 (s 60,000
OMEHAl L2 S8 (M8 86,000
OgEZ UL (M) 86,000
OB RS (Ma) 43,000
ZAHHANS T2 2 100,000 118,000 A18,000
307 2I2+0 & 100,000 100,000 0
04 BI2LBHAFAISY B X 100,000 100,000 0
OUMNS HAHY L SEHEA 100,000
NE2E - E5Y Y 10,792,149 9,195,636 1,596,513
= 1,222,927
El 3,675,000
Jl 80,000
= 5,814,222
MESBEAAL THBE 10,000 10,000 0
202 014 10,000 10,000 0
01 =L 04 bl 10,000 10,000 0
OMBSIEAAL L2 2FN 10,000
Sa2 Fl 30,000 100,000 270,000
403 XHXISHA S X2 0] & 30,000 100,000 270,000
01 XtXISHAI X2 8 & 30,000 100,000 270,000
OSa2 I 30,000
QUM T2 (HSAY) 192,400 96,200 96,200
403 [HXISHH S K20l & 192,400 96,200 96,200
01 IR SH A== 192,400 96,200 96,200
O2F QO=HEY T4 () 96,200
OFH QOIEHEY =4 (T8 96,200
ELXRL B (HEAY) 1,213,600 1,208,400 5,200
403 XHXI SHAI S X2 0] & 1,213,600 1,208,400 5,200
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SN M4PASDH
Ha: 2AMO JX F D (SEHSLL/AY - ME)
ool MERS - BY BT CEREE]
% 5 SIE|
SH-BH S (BH) - HRAMY - BLS 01l &k o i HlnE2
308 XX SHH S0/ ™ 493,852 0 493,852
01 HXSHBLRBED 493,852 0 493,852
O&MEN 20N (HE) 96,027
OELSHXTA(TE) 164,617
OFASXIZelol(FE) 178,335
O EDCILOIE (HE) 54,873
HENHIAZ20 29(2D) 42,873 0 42,873
2 32,979
= 9,894
308 XX M SO0l 42,873 0 42,873
2 32,979
= 9,894
IR ENEREEE 42,873 0 42,873
O+=23TIUOIE 42,873
2 32,979
= 9,894
2l 29(2D) 361,389 299,520 61,869
2 277,998
= 83,391
308 XX S S0l 361,389 299,520 61,869
2 277,998
= 83,391
01 HXSHBLRED 361,389 299,520 61,869
onile 29 361,389
2 277,998
= 83,391
S02DS 29(21) 430,235 283,660 146,575
2 330,950
= 99,285
308 XX £ A S0/ ® 430,235 283,660 146,575
2 330,950
= 99,285
B EYEREES 430,235 283,660 146,575
OR0IEDS 29 430,235
2 330,950
= 99,285
SR 2Y(2D) 119,600 119,600 0
2 92,000
= 27,600
308 XX SHH S0l 119,600 119,600 0
2 92,000
= 27,600
B ENEREEE 119,600 119,600 0
oNExR 29 119,600
2 92,000
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SN M4PASDH
Ha: 2AMO JX F D (SEHSLL/AY - ME)
ool MERS - BY BT CEREE]
% 5 SIE|
SH-BH S (BH) - HRAMY - BLS 01l &k o i HlnE2
| = 27,600
TelEg =2EMH HS(2D) 55,900 55,250 650
2 43,000
= 12,900
403 XIS H S T2 0 H 55,900 55,250 650
2 43,000
& 12,900
01 KRS X2 2 = 55,900 55,250 650
ONGEUY =M US 55,900
2 43,000
= 12,900
N EYY T4 (21) 3,445,000 3,900,000 455,000
2 2,650,000
= 795,000
403 XS H S T2 0 ™ 3,445,000 3,900,000 455,000
2 2,650,000
= 795,000
01 KX SH K22 X 3,445,000 3,900,000 455,000
ONUEAYEH 2,535,000
s 1,950,000
= 585,000
ouz=sy 910,000
2 700,000
= 210,000
£20I9% XV (22) 1,332,500 97,500 1,235,000
2 1,025,000
= 307,500
403 X SH S K20 ™ 1,332,500 97,500 1,235,000
2 1,025,000
= 307,500
01 XHXISHAI 2 2 = 1,332,500 97,500 1,235,000
O%H0IYY X2 1,332,500
2 1,025,000
= 307,500
ARl #(HeAY) {,105,000 195,000 910,000
403 XIS H S T2 0 H 1,105,000 195,000 910,000
01 XIS 22X {,105,000 195,000 910,000
OBF AR = XH(HE) 1,105,000
MEUEE AL (HEAY) 1,300,000 0 1,300,000
403 XA S K0 H 1,300,000 0 1,300,000
01 KX SHHI X2 2 = 1,300,000 0 1,300,000
OEd MYYEE ZH (M) 1,300,000
AHAZE2 245HAA) (D) 40,000 0 40,000
p] 40,000
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SN NYASDH
Ha: AN JIX E DB (SAMSLA/AY - ME)
ool ANYRE - BY BEY (cHol: &8
2N -3 - (3H) - NHEAMY - BES Ofl &F o ﬁlgi Hws2
308 XX SHH S0/ ™ 40,000 0 40,000
J| 40,000
01 RXISHBARES 40,000 0 40,000
OHMAZ=ZZ 843 40,000
bl 40,000
HHAZXRY BH3H(KE)(2D) 40,000 0 40,000
bl 40,000
403 XIS H S K20/ H 40,000 0 40,000
p] 40,000
01 XX ST =2 % 40,000 0 40,000
OUMAZ=2Z &43 40,000
gl 40,000
MY ME - BF Jls BT 6,694,660 4,846,400 1,848,260
= 249,739
ol 3,000,000
= 3,444,921
429 U MLSE IL(HEAY) 325,000 130,000 195,000
403 THXISHH S X2 0| 325,000 130,000 195,000
B ETES 325,000 130,000 195,000
OHF S30IS 428 PA(HH) 130,000
OUS s84+2W 2 (M) 195,000
DENZE FTH(HEAY) 195,000 0 195,000
403 THXISHH S X2 0| 195,000 0 195,000
01 KX SR =2 % 195,000 0 195,000
OHY S TSHIV (W) 195,000
ADIEJEE HXAMY(2D) 260,000 39,000 221,000
= 200,000
= 60,000
403 XX S S THE 0l ® 260,000 39,000 221,000
= 200,000
= 60,000
B ETES 260,000 39,000 221,000
OADIENEE &IIAY 260,000
= 200,000
= 60,000
TMASY TH(HEAY) 1,950,000 0 1,950,000
403 XX GHHI S TH2 0l ™ 1,950,000 0 1,950,000
IR EEEES 1,950,000 0 1,950,000
0YY NYASH ZH (M) 1,950,000
gEusss Tzl (AU - 2)(2D) 3,900,000 1,625,000 2,275,000
bl 3,000,000
= 900,000
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SH: MEAST
Y AN IRl DS (SBoHLA/ A - A
el AR ME) - 8 Jls EX (ct9l: 89
. 4
SN SAEA) - MEAY - BES 0l &k o e SmEET
403 XM S0l & 3,900,000 1,625,000 2,275,000
J| 3,000,000
= 900,000
01 RXIEHX A2 2 = 3,900,000 1,625,000 2,275,000
Oal -2 3& =4 3,900,000
J| 3,000,000
= 900,000
CAE Ao 24 (=31) 64,660 62,400 2,260
= 49,739
= 14,921
308 XX € X S 0 64,660 62,400 2,260
2 49,739
= 14,921
01 HXESHILAEEXS 64,660 62,400 2,260
OE A= Fa 22 2 64,660
= 49,739
< 14,921
EBarss¥ 20 =4 58,802,133 54,447,521 4,354,612
= 44,543,571
J| 2,159,000
= 12,099,562
AlS AL KA 7,700 7,600 100
201 L2 5,000 4,900 100
03 A2 HI 5,000 4,900 100
OMSUMA B SEIY S 5,000
301 L2 M= 2,700 2,700 0
09 HALABIXIE S 2,700 2,700 0
OAZLHA A 24 S 2,700
QMBS (21) 5,981 5,981 0
= 5,300
= 681
403 XS S0l H 5,981 5,981 0
= 5,300
= 681
01 "XIEHA2E = 5,981 5,981 0
OEANE 5,981
= 5,300
& 681
AQAEBEUS (=) 47,970 0 47,970
= 36,900
& 11,070
403 XSS X201 H 47,970 0 47,970
= 36,900
= 11,070
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SN M4PASDH
Ha: 2AMO JX F D (SEHSLL/AY - ME)
Sl BAEA M E4 CEREE]
SA B S (BH) - MEMY - BES Ol & 2 e BlRE2
IR ELEEES 47,970 0 47,970
OYRALE 3 47,970
2 36,900
= 11,070
AHYEY FF(2D) 5,108,169 3,659,050 1,449,119
2 5,108, 169
202 01t 5,000 5,000 0
2 5,000
01 2LHOTHl 5,000 5,000 0
OXUANY FT NELS S 5,000
2 5,000
206 TH 2 bl 5,103, 169 3,654,050 1,449,119
2 5,103, 169
01 T2 bl 5,103, 169 3,654,050 1,449,119
0227y = 5,103, 169
2 5,103, 169
AHYZH NV (2D) 4,783,860 6,077,455 A1,293,595
2 3,505,209
= 1,278,651
403 X SH S K20 ™ 4,783,860 6,077,455 A1,293,595
2 3,505,209
= 1,278,651
01 XHXISHAI X2 8 = 4,783,860 6,077,455 A1,293,595
OFMY =4 4,783,860
2 3,505,209
= 1,278,651
2uexy FH(21) 331,006 429,891 98,885
2 331,006
206 T2 bl 331,006 429,891 98,885
2 331,006
01 2 bl 331,006 429,891 £.98,885
02279 331,006
2 331,006
2uexy A (2) 1,000,329 956,213 44,116
2 693,097
& 307,232
403 XA S K0 H 1,000,329 956,213 44,116
2 693,097
= 307,232
01 XX SHAI X2 2 = 1,000,329 956,213 44,116
CEITEES 1,000,329
2 693,097
= 307,232
Neissxy =X (21) 209,859 131,418 78,441
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A

H: 2AJAMO JIXl DS (sHHLSA/AY - ME
Cel: BASSE SO XA (ctel:m el
SN BB S (SA) - MM - BES Ofl b b RS2

= 209,859

206 M= 4l 209,859 131,418 78,441
= 209,859

01 M= 4l 209,859 131,418 78,441
OXNYEstxg =2 209,859
= 209,859

ANEEs 2 NA(=1) 1,158,914 1,140,500 18,414
= 849,781
= 309,133

403 XSS X201 H 1,158,914 1,140,500 18,414
= 849,781
= 309,133

01 X EH 22 = 1,158,914 1,140,500 18,414
OXNHAEstxEd XI& 1,158,914
= 849,781
< 309,133

et =4 F&(=22) 75,415 0 75,415
= 75,415

206 M= Hl 75,415 0 75,415
= 75,415

01 M= 4l 75,415 0 75,415
o0g2=+Y s 75,415
= 75,415

Uat=ed =4 X2 (=22) 411,565 585,000 A 173,435
= 299,185
= 112,380

403 XM S0l & 411,565 585,000 A 173,435
= 299,185
< 112,380

01 XX EH A2 E = 411,565 585,000 A 173,435
OUlst=&t =4 411,565
= 299,185
& 112,380

DM MZY =& (=1) 1,043,900 772,200 271,700
J| 803,000
= 240,900

403 XSS K201 H 1,043,900 772,200 271,700
J| 803,000
= 240,900

01 XIS 2= 1,043,900 772,200 271,700
O0IME X HZ =& 1,043,900
Il 803,000
= 240,900

Sz dE R (=21) 3,958,888 3,598,888 360,000
= 3,488,888
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SN 4PASH
M ZAMO JIX DS (SUWSLM/AY - ME
oSl BAELT B T4 EER-E
5 4 14
SA YO () - NEAY - B Ofl &F 0 agi HRE2
= 470,000
403 XX SHHS K201 ™ 3,958,888 3,598,888 360,000
= 3,488,888
= 470,000
01 AXSHMA=2E X 3,958,888 3,598,888 360,000
O A B ALK 3,958,888
= 3,488,888
= 470,000
AMETNX EFXE =X (=2D) 447 446 1,887,054 N 1,439,608
2 447,448
206 M = d| 447 446 1,887,054 A 1,439,608
2 447,446
01 MZ4l 447 446 1,887,054 A 1,439,608
OMZIHNAN=ETAEE =272 447 446
2 447 446
AEIHNA 22X X (=21D) 3,764,814 5,308,446 N 1,543,632
= 2,792,754
= 972,060
403 XX S HE X201 A 3,764,814 5,308,446 A 1,543,632
= 2,792,754
= 972,060
01 AIXSHHMA=2E X 3,764,814 5,308,446 N 1,543,632
ONMZIHIHA =xX2E XS 3,764,814
= 2,792,754
c 972,060
HM=JR)| =8 (=21) 5,000 5,000 0
= 2,500
= 2,500
202 044l 5,000 5,000 0
= 2,500
= 2,500
01 =W A bl 5,000 5,000 0
O=INRIIANYE =X N&&EH 5,000
= 2,500
= 2,500
HHM=ItRI| XK (=1) 30,713,243 24,528,984 6,184,259
= 23,625,568
== 7,087,675
403 XX SHHS K201 A 30,713,243 24,528,984 6,184,259
= 23,625,568
== 7,087,675
01 XIS HA=2E X 30,713,243 24,528,984 6,184,259
OAZM= IR 30,713,243
= 23,625,568
= 7,087,675
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A
X XH -
(=

S

MRAST
YA JE DS (SHS /LY - 4
BAESR B X4

1]

SA B O (3H) - HEAY - B O Ak o8 ﬁgi HRS2
TP N (2D) 3,965,274 3,732,065 233,209
= 3,072,494
= 892,780
308 XXl £ A S 0l & 3,965,274 3,732,065 233,209
= 3,072,494
< 892,780
01 HNSHBABES 3,965,274 3,732,065 233,209
OZTIAYINPI| =X 3,965,274
= 3,072,494
< 892,780
DMK MY S BAEIRI(2D) 1,762,800 1,621,776 141,024
b 1,356,000
= 406,800
403 XX A S K20l & 1,762,800 1,621,776 141,024
b 1,356,000
< 406,800
01 HAISH X =2 = 1,762,800 1,621,776 141,024
CEESEb] 1,762,800
b 1,356,000
< 406,800
MEBH =MTI XY 14,357,850 13,599,500 758,350
b 8,077,000
< 6,280,850
sg=xze BIeYEN 6,400 6,400 0
201 Let2 Y| 3,000 3,000 0
01 AtR 22l gl 3,000 3,000 0
OZAY A28, e +¢ 3,000
202 01t 3,400 3,400 0
01 20l bl 3,400 3,400 0
OMB=X 20t FRFX 3,400
TRHEAEES (HEAL) 4,324,450 3,932,500 391,950
403 XtXI A S K20l & 4,324,450 3,932,500 391,950
O RHXISHH X =2 = 4,324,450 3,932,500 391,950
O=M MR % (M) 585,000
oNYTA(HE) 1,742,000
OMBEYE (M) 325,000
CHEIS=EN ¢ 495,950
OHENRZ(ME) 325,000
CEIMEIESED 312,000
OMSOISH (M) 65,000
onMEEZE (M) 455,000
O=BANBLBUE(HE) 19,500
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SN 4PASH
Y 2JAMO JXl D (SHHLA/UH - AE)
CHelr MEA MBI E4 EER-E
5 4 14
SN SAEA) - MEAY - BES 0l &k o e SmEET
OIMSX =24 (=220) 1,820,000 1,224,600 595,400
J| 1,400,000
= 420,000
403 XSS AH201H 1,820,000 1,224,600 595,400
J| 1,400,000
& 420,000
01 AXIEMAEEEX 1,820,000 1,224,600 595,400
OOIMEXXEH= =4 1,820,000
J| 1,400,000
= 420,000
SAHEZE 24 (=22) 5,850,000 6,500,000 A 650,000
J| 4,500,000
= 1,350,000
403 XX S H S K= 0l & 5,850,000 6,500,000 650,000
J| 4,500,000
= 1,350,000
01 RXIEHA2E = 5,850,000 6,500,000 A 650,000
O AHEZ= =4 5,850,000
J| 4,500,000
& 1,350,000
et dels 24(=21) 650,000 910,000 A260,000
J| 500,000
= 150,000
403 XSS X201 H 650,000 910,000 A 260,000
J| 500,000
= 150,000
01 XXX A2 x 650,000 910,000 A 260,000
OXHers Dels =4 650,000
J| 500,000
= 150,000
A2AHE =sMIZ2H L (=) 1,677,000 926,000 751,000
J| 1,677,000
403 AtXIEHMSA=01A 1,677,000 926,000 751,000
J| 1,677,000
01 REXIEHX A2 2 = 1,677,000 926,000 751,000
OREMUEH 1,677,000
J| 1,677,000
2+ | - 2el 30,000 0 30,000
403 XS S0l H 30,000 0 30,000
01 MK SH =L = 30,000 0 30,000
ONn2=+ =4 30,000
ME=sXs2 25 65,000 65,000 0
= 50,000
= 15,000
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M MEASH
HE: QAN X E DB (SHSLA/UY - ME)
ol Aol R XX 9 e
2 5 4 14
SA YO () - NEAY - B agi 2t
301 et d = 1,500 1,500
09 B AtAIHIXI 2 2 1,500 1,500
OAME N T EI} 1,500
401 AlEHI L 204 Y| 50,000 50,000
01 A&l 50,000 50,000
O NSk AlAE & o A X 50,000
ANEE2 XH(=21) 75,968 75,968
= 34,334
& 41,634
01 Al B2 0| 75,968 75,968
= 34,334
= 41,634
01 Al HI| 73,802 73,802
OHEUSR NEEFE X4 73,802
= 33,355
< 40,447
02 22l 2,166 2,166
OHEULSR NEEstE 22l 2,166
= 979
= 1,187
HY2AAFY| (A ASD) (I EH/IIE 165,840 N 13,785
= 60,953
== 104,887
ol 2| 104,209 ANT7,184
= 60,953
== 43,256
MRE YL BTSE 2AY N(2D) 104,209 AT7,184
= 60,953
== 43,256
101 eI 24| 94,051 642
= 60,953
c 33,098
03 22X (I H) 22X E 94,051 642
oJlea 2,026,683 x3H x12& 72,961
= 47,286
= 25,675
(OFSE=Eag=y 2,050,000 2,050
= 1,328
== 722
(OPIEE== 20,000& »3H x12& 720
= 467
= 253
OUXNKRSEI L A2t ¢ 3,600,000& 3,600
= 2,333
== 1,267
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Bl w
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A 60
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H3r
<
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4,203

3,573
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4,860
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i
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fir

H
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[=Y
=

72,960,000

OEZ =yl

A x3H «128

=
=

140,000

<r
no

128

23

100,000

=gl

|

Ul
o
00
s
o
BJ

ro
40
I+
ro
3)

ao
I+
no
fsY

no
10
iy

]

ol

fir

Ulo
no

-

ua

0

ulo
no

i
I+
1T
o0
T
00
B

R0

il

80
]3]
x

I+

cl

|,

A
OF

01 At

2l i

&1
ok

A

0H
z

I+

202 044l

01 =LA HI

Kl
Kt
ok
ol

KJ
KF
ok
ol

0B

M
=

el

6,600,000

K0
nr

Kt

1128

2
2

400,000

t

3

©30¢2! 0l

-731-





